Paper-Maker Paper Maker 10
Directions (1-2): & 3§ SFH T CAYEF HeTTT X 30X AT R 7w oot &
I Qfae-

ferer gfaior feorm & 3R 3@ gt 50 HleX Torar §, T 319= a1¢ #gar & 3R
30 #iex =TT §. 39 §g @, g8 30 &1 3R A3 ¢ 3R 30 BT F Tl g &
faT 30 #iex T@ar §. 39 WX A9 A & AU aF a¢ AT ¢ 3R o A &
T ¥ 30 #HieX Forel 8.

Q1. 3RfAF fog & feAer 1 &X fhcel gT 872
(a) 20 HIeX
(b) 10 X
(c) 15 H X
(d) 25 #HeX

(e) 18 HIX
L1Difficulty 1
QTags Reasoning

Q2. & =X ¥ 3% AT FT =X ha foem & 872
(@)@

(b) afeas

(c) af&yor

(d) 37X

(e) $5TH & FIs et
L1Difficulty 1
QTags Reasoning

Q3.3 &I AR dfdd # AT & =), Felolid & W & % 3 20 HeX FHr g
W §. Wl FT R, defoild & B & 3oR-Yd fGem & 25 MX i g W 8. Ho T &
T & Tegd H, ST o1 ax fha feor # g2

(a) 3dX

(b) 9

(c) afas

(d) faror-giRaH



(e) 39T 3Ths
L1Difficulty 1
QTags Reasoning

Directions (4-5): & 1§ ATTHN & LAATEF FEAAT F AN A e 7w weat &
W difarT-

a &g A & 3 AT 3R 5 #:eX gerar ¢ 3R &g B W ggaar &. a¢ fog B & aw
ASAT ¢ 3R g C R 9gaet & v 7 #le Ioir & ¥ C & 9 Y Q@ A &
3R &g D W 9gd= & AT 6 #eX gerar §. I g D § 2w #7sar & 3R fog E
T 9gd & T 3 Hiex gerar ¢ f§g E &, I IR aw A7zar & 3R g F ®
qga & fAT 6 #iex Terdr 8,

Q4.7 A & Feast A, §g F fore foem # 872
(a) 3

(b) gfgroT

(c) afaruT-qd

(d) aferor-gfeas

(e) 3TR-gd
L1Difficulty 1
QTags Reasoning

Q5.féig C & weedl #, foig E forer faom # 87
(a) 3

(b) gf&yoT

(c) afaroT-qd

(d) gfgrur-gfeaH

(&) 5o ¥ FE a7

L1Difficulty 1
QTags Reasoning

Directions (6-8): i1 AT AT YA+ oA & 1§ ATHRY W 3T &

A#BHF T E F B AF 1Hdlcx q@ A &
ASBHIT 3T g 6 B,AS 1HRX 3R H ¢



A*Bar T & fF BAF 1T ulRas & §
A@Bwr 3T g f& B, A% 1#Het cfgor &

Q6. IS ol ‘P@R*Q@SHT T &, a P& HegsT H T fovdeht gt 3K forw fem &
g?

(a) 2m, 3

(b) 3m, 9T

(c) 1m, GTayoT

(d) 2m, gf&yoT

(e) TR 18T o ST Fehar
L1Difficulty 2
QTags Reasoning

Q7.3 =Tt ‘ KEL@M*N*O$P’ TcT §, dl P& Tegd H M foha feom & g2
(a) 3

DOEGHEC)

(c) afeas

(d) af&yor

(e) IR-9TTH

L1Difficulty 2
QTags Reasoning

Q8. %IsT AT ol T & & ‘L, G & 3R g H & 2
(a) LHH@M#G

(b) GEM@L@H

(c) H$G#M@L

(d) LEH$SM*G

(e) 357 & FIg =TT

L1Difficulty 2

QTags Reasoning

Directions (9-10): &I 1§ FATASRY T ?—'Q'I'F-I'ql;é? ey wY AR AT R 1 weay F
I QfaT:

T oFfad fig AT IR T 3R Tolelr Y& T & IR 10 1 =eldr g, e ag g
AT ¢ 3R 87 Iodm §, Tgl ¥ 98 I N 3N 6 7 derm ¢ 3R fig B W wga



ST § .f§g B & g8 %A WU AR 3l Toral g 3R i 3R 4 i Torar § qur f§g
DW Ygd ST & .fig D& g5 S H3 12 # gid & 3R Y 910 3R 73 Sirer
& 3R 39 3fAH fig E W 9gae & fav 17 & e &

Q9. IR AR 3T\ &g & ALT wgeTad gt Tl g2
(a) 14 X

(b) 10 HIX

(c) 4 #HeX

(d) 5 #HeX

(e) 3R & HIg =Fal

L1Difficulty 1
QTags Reasoning

Q10.7dg A% Hedt # fdg D Ty foem # g2
(a) 3R-qd

(b) &f&yor

(c) aigrur-ufeaH

(d) 3

(e) ITeTa

L1Difficulty 1
QTags Reasoning

Directions (11-15): F=ifaf@a S &1 regga fifaw ik ST Re v geat &
W o

ABIET SH UPR & fh A, Bh SR H g1 XY 3T s IR ¢ b X, Y & afea#d® # gl
AB 37T 3T XY 3787, f[dg Q W 38 &R Jidesde d & f& AQ, 1140 §, QB, 107 &,
QX, 97T &, Qv, 8T &1

gY g A ¥ IR &Xa § 3R g J R 9gva W & fow 5 v gfayor e & worr §
3R R 39 S 3R For § AR g Mo 9gwat & fav 8 #1 wefdr g €Rer fog
Y& g M AT 3R Sirar @ 3R g O X 9g=a & faw 11 #1 =orar & 3R e et
3R Agar § 3R g N R agea & fav 17 @ gorar g1 T@rfd fig X @ =orehr § 3R
fig NI 9gae & T 172 Ferc g1 Farfa foig X @ 387 el & 3R fog P



Tgda & faw 7 & gfaor fgur & Ferd & AR 30w 9 3R A & R 2 A Fercd
& 3 ERT 39 S AR A & IR g R ggal & AT 47 gorc @

Q11.7dg B & @edy #, foig M fora foem & &2
(a) cfayor

(b) &fetor-qg

(c) GTaYuT-ufeas

(d) afeas

(e) 3TR-gd

L1Difficulty 2
QTags Reasoning

Q12. & & 3ifa7 TU & T #, gY &1 3RAF T fFg feem & 872
(a) 3

(b) 4

(c) 3T-ga

(d) 3aR-aieaH

(e) gT@roT-ufRas

L1Difficulty 2
QTags Reasoning

Q13. fAmifaf@a & @ =l @ fog Th-g@X & @y Al Y@r # g2
(@AM, 0,]

(b)M,0,A

(@] QX

(d)A]Q

(e) 357 & FIg =TT

L1Difficulty 2

QTags Reasoning

Q14.fdg M 3R foig Q & #ET =geIdH gt =i g2
(a) 11 HIeX

(b) 12 A

(c) 13 HIX

(d)9 A

()5 & FE Tt



L1Difficulty 2
QTags Reasoning

Q15.8Y & 33RfAF TUH & T #, O &1 3R+ T Fg fear 7 §2
(a) Gf&yoT

(b) 3TR-9lRgH

(c) afaTor-qa

(d) aferor-afeas

(e) 3
L1Difficulty 2
QTags Reasoning

Solutions
S1. Ans.(a)

(Starting Point)

(Dinesh's house)

(Friend's house)
50m
30m
Sol. 30m
S2. Ans.(a)
(Starting Point)
(Dinesh's house)
(Friend's house)
50m
30m
Sol. 30m
S3. Ans.(e)
Sol.

S4. Ans.(e)



B F C
5
6 6
A
E D
Sol. 3
S5. Ans.(d)
B F C
5
6 6
A
E D
Sol. 3
S6. Ans.(d)
Sol.
P
|1m
Q 1m R
11_nl |1m
S — T
S7. Ans.(b)
Sol.

P K——L

0 N M

S8. Ans.(a)
Sol.
L—H
M—G

S9. Ans.(e)



Sol.

1Zm D
4m 3m
B
17m bm
8m
10m
E
S10. Ans.(a)
Sol.
12m D
4m 3m
B
17m 6m
Bm
10m
E
S11. Ans.(e)
/ Harsh's IP
N { A 0
Dheeraj'FP 1?:%
5
Harsh's FP
1 > il
11 m 11m
N
Q Dh i'IP
* eera
X 9m —8 m—— !
Swati’s IP R Swati's FP
Tm
N #m 10 m
Ip Zm
L ]

Sol. B



S12. Ans.(c)

/ Harsh's IP
N _( A 0
Dheeraj'FP 17
5
Harsh's FP
] W
11 m 11m
N
Q Yl
+ Dh i'lP
— 9m 8m ser
Swati's IP R Swati's FP
Tm
#m 10 m
P Zm
Sol. B
S13. Ans.(d)
Harsh's IP
N _( A 0
Dheeraj'FP 17
5
Harsh's FP
j > w
11 m 11m
N
Q Yl
+ Dh i'lP
— 9m 8m sera
Swati’s IP R Swati's FP
Tm
4m 10 m
P Zm
Sol. B

S14. Ans.(e)



Harsh's IP

N {_ A 0
Dheeraj'FP 17
3
Harsh's FP
] w
11 m 11m
/N
Q Y]
+ Dh i'lP
— 9m 8m sera
Swati's IP R Swati's FP
7m
4m 10 m
P Zm
Sol. B
S15. Ans.(c)
Harsh's IP
N _( A 0
Dheeraj'FP 17
5
Harsh's FP
j W
11 m 11m
N
Q Yl
+ Dh i'lP
— 9m 8m ser
Swati's IP R Swati's FP
Tm
#m 10 m
P Zm
Sol. B



